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PART -1

Child Development and et foremTer wet forer v
Pedagogy
1. A heuristic is- 1. i 2-
A. Rule of thumb A. Tvatiee fFag
B. a protocol B. UF TEEE
C. astrate
W C. T WHifd
D. anerror
D. Tk Teid!
2. Which of the following type of 2. BT HI T8 T h &THAT BT 3TTeheld HH
assessment would be more beneficial & foru ffoRaa o & 9 & YR
for assessing students ability to TRl 3T EERTE 21
debate? . '
A. Formative assessment A. TEATH HeITh
B. Portfolio assessment B. WIS geaishT
C. Summative assessment C. zﬁww
D. Performance assessment D. 42 yesticg

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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3. Pay attention to the statement given

below and its reason and choose the

correct answer from the answer code

given-

Statement : On the basis of Physical

Stimulation, it can be found whether a

person is lying or telling the truth.

Rationale : Lying is a type of

cognitive response.

A. Statement and rationale both are
correct.

B. The statement is correct but the
rationale is wrong.

C. The rationale is correct but the
statement is wrong.

D. Both statement and rationale are
wrong.

A teacher in a multicultural classroom
would ensure that the assessment
considers the following-

A. Reliability and validity of
assessment tool

B. Sociocultural context of students

C. Expectations of school
administrations by complying with
the minimum level of learning

D. Standardization of the assessment
tool

3. e f T e Ud 3Hek qeh W A § T

e T IR e ol H € WET ST BT =
FL-

AT ; fEeh IUSHT o STUR T I TaT
ST ST Wehell @ hl Afeh 313 died T & 1
o)

b : 3 ST Ueh T8 sl G
3T 2

A. Y qT Toh 2T dal Bl

B. % HEl 8 U deh TTeid &

C. T Hel 8 fohr o Tard 8

D. YT qT dok ST Terd 2

TEHIEhcIoh HaTTHET 6 oA H Th

fRrereh =g gt sham-

A. T TR fora @ T o 2

B. ST o AT HiEh{aeh €ey
ST AT

C. formmer SRmmeehi o STUETH! % TR
I TR TR T ST &l

D. HeAeh ST AT &
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5. What is the correct order of the
following items in the process of
forgetting?

(@) Poem

(b) Nonsense Syllables

(c) Passage

(d) Insight Based Learning
Answer on the basis of given codes-

A. (b), (), (a), (d)
B. (b). (a). (c). (d)
C. (), (c), (d), (b)
D. (d). (c). (), (a)

6. The act of helping out another person

is referred to as-

A. Social aiding

B. Social assistance
C. Social behaviour
D. Prosocial behaviour

7. Which of the following will be
included in the category of learning?

A. Change in behaviour due to
Practice alone

B. Change in behaviour due to both
practice and experience

C. Change in behaviour due to
practice, experience and drive

D. All types of changes mentioned
above

. foremor i wfsran ® fferfad uet =& vt

9 | oId/-

(a) Shiaar

(b) fRdF g

(c) TN

(d) YF-3TTed GieT

e T e Tkl oh HATER 7T 3T -
A. (b), (¢), (a), (d)

B. (b), (a), (¢), (d)

C. (a), (c), (d), (b)

D. (d), (¢), (b), (a)

. Torelt o1 =R ol wed o o

T ST &
A. ISR T8l

B. 9IS Tl
C. 9 4 S¥aER
D. GHN-GHY’H IR

. TefaRaa @ @ e =i fore 2o 4

qftAferd foRam STRITT?

A. ok 3y & T SHagr § 8 aTen
EIECKES

B. YT T I M1 oh 0T AR
o 21 e aiErdH

C. 3TV, 39S Td 3F=le (drive)
FHIU] TER H B AT T

D. 3w H & Tt dT8 o e i
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8.

10.

11.

Memory can be improved when
information to be learnt is-

A. Organised
B. Written
C. Spoken
D. Elaborated

Psychosocial theorists see sexuality as
a result of-

A. Environmental factors

B. Hormonal atypicality

C. Sex chromosome atypicality

D. acombination of biological factors

If a child has mental age of 5 years
and chronological age 4 years then
what will be the 1Q of child?

A. 80 B. 100
C. 120 D. 125

What should be the role of teacher in
meeting the individual differences?

A. Try to know the abilities, interest
and aptitude of the individuals

B. Try to adjust the curriculum as per
the need of the individuals

Both (A) and (B)
D. None of these

O

8.

10.

11.

i H GO 7l €l Hehall & Sfa Hiet
SIECIGIS ILEA

A. IR al

B. fafaaar

C. Hifawar

D. freamaar

SHTHEAT shl HAETHTISTR FeaT-denit fohereh
T Ty ST 27

A. JTATEi SHeh

B. TN AGTHIT

C. o Turest <At ST

DISICEXACAEIR RIS

At fopelt sre<l ol AR 1Y 5 a9 3R

HTATIShh 3T 4 99 @ q1 sFedl 1 1Q

AT BT

A. 80 B. 100

C. 120 D. 125

ST ATl ohl O L | fTeTeh sh

AT AT BT =TTRA?

A. iR 3 A, e we
FIVEFEATSAT ShT ST T TATE i

B. UTSsHH o AT oh! STATIRATHI
o FTET GHTAISIA 3L 3T SATE L

C. (AT (B)aHl

D. A ®E Tl
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12. The best method to study the growth
and development of the child is-

A.

Psychoanalytic method

B. Comparative method
C.
D. Statistical method

Developmental method

13. A social cognitive map is-

A

B.

D.

Useful for understanding complex
cliques or group in children

Obtained by asking ‘are there
people who hang around together
a lot at school?’

Obtaining by combining
information from different
informants

All of the above

14. vygotsky considered language to be-

A.
B. Fun

C.

D. Meaningless

Cultural tool

Unique

12. s== & qfta vd forehme w1 steares e Y
gatam forfer -

A. TfeseoTTene, forfer
B. qeiTeHsh fafer
C. forermarenss fafer
D. @iftegshiy farfer
13. | HTCH Ao T 87
A. Sl T SIfee SRl AT e i SHe
o forr St

B. I8 Yoo SN fopam STRITT fof e UH
QT & S fererTers W ueh e Sigd gHd
o

C. fafi= =ar 4 fieft St 1

ERICTSIEREDIRS DU

D. 3wk g+t

14. JRATICEhT < HTST sl HHT & Teh-
A. HiEhideh YT
B. OSI/HARSH
C. Afgd
D. =
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15. Pay attention to the Assertion and its 15. = {3 T e U 3Heh deh WX & § U
Reason given below and select the & T e Gohdl § O G&) T 99T i
correct answer codes given below- FE ; ST Fa B 3T B 2|

Statement : Aggression arises from ]
frustration. % T ; Gft TG T FaT HTHHHAT hl A

Reason : All types of frustration give &t 2l
rise to aggression. AT e Gohd-
Answer code hint- B .
A. FIT qAT FHHOT SHT T R
A. Both statement and Reason are ,
correct. B. % @l 9iq HR0T T 8
B. The statement is correct but C. Waﬁ%\jwwﬁ
Reason is wrong. .
. D. ¥ QT HTT 41 TeAd 2l
C. The Reason is correct but the
statement is wrong.
D. Both statement and Reason are
wrong.
16. First development of special education ~ 16. faf¥re fve o1 weisrem forhmer ga or1-
was- A. i o
A. In America .
B. [IH
B. In Europe S
C. InlIndia C. wRa#
D. In China D. s H
17. Who suggested the word “Learning 17. arfemmm sremelar” 3rse forem g
. ’7")
Dlsablelil ? A B
A. Kir o
B. Forbase B.
C. Kabell C. o
D. Torrance D. a4
18. Whose statement is this “Divergent 18. “oTaa fowaH, YeHTcHeRdT § Hwsiferd
Thinking is related with Creativity?” 2T 21” I8 hYA 2-
A. Burt B. Stephen A TS B o

C. Guilford D. Wilkins
C. fiawiE D. faafra

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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19. I|dentification of Gifted Child is- 19. gfquremedt sretes i yg=H -

A. Educational Quotient A. Sferep-afey
B. Intelligence Quotient B. sfRecfey
C. Adjustment N
Jus C. THENH
D. Emotion )
D. &am
20. Choose the wrong one- 20. e ferehed Ff-
A. Inclusive education strengthen the A. gTaeft f3rer, uehteror shi ufsham st
process of integration. Uge Ll Bl

B. Inclusive education is the analysis
of teaching learning process.

B. ot f3vem, feveror stferm ufshan =

C. Basis of inclusive education is the fersegor 21
theory of equality. C. GHTasfl {318 AT AT, T
D. Inclusive education is helpful in faeeia gl

adjustment with society.

D. gt e, 99 & SRS 9

TS 2
21. Heredity is considered as a -------- 21. SATLSTRIHAT T T v AT ST
social structure. % B9 § HET STaT &)
A. Secondary N e
B. Dynamic :
C. Static B.
D. Primary C. fem
D. rfies
22. The most appropriate meaning of 22. HRGHT 1 HeE 39YH Y 8-
':a”"”g R A, e s
. acquisition of skills
AcquIsti B. I T GHEST
B. inculcation of knowledge .
C. modification of behaviour C. SHTET & HHMer
D. personal adjustment D. SRR GHEISH

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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23. A History teacher arranged a visit of 23. U 3feTe Rateh = WTeie qRdRT aresha

students to local historical UeTd g3 B o for T UfaeTieen
monuments, while teaching ancient WT@{{W@H ARG e 78w
Indian architecture. This is an example .

of- JETE &-

A. Activity based teaching A ifciferfer e fameror

B. Experiential teaching B. agﬂamﬁmw

C. Blended teaching c. b R

D. Project based teaching

D. YTASHT e fareqor

24. earning is- 24. g 2-
A. achange in behaviour A. FIER T giEdd
B. the result of experience or practice
C. relatively permanent change in

B. ST T yiomH

behaviour C. aqaguﬁraﬁan:ua SIRINICEE
D. all of the above D. 3wies &t
25. Which one of the following objectives 25. Uiatur 3T UgH o for e &
Is not required to teach environmental ¥ ohI9 ©1 32T AT Tl 22
studies? .
L A. ifces Td dmTiren giEsT & gfd
A. To develop sensitivity towards the SergfiermT RreR
physical and social environment. Pl
B. To memorise basic scientific B. et d3nier steremon i faeaidt
concept and principles 1 1€ A & ot
C. To provide opportunities to C. TtaRoT T UdT T 3 STEET YA
explore the environment '
D. To develop skills like observation,
measurement, prediction and D. ST, |1, WiersraToft (7 FeT)
classification ST fTehtor S ShiTeT farahfera T
26. The main aim of education is to 26. f31eT hT A 3L BIAT & SATch b/l -
develop a person’s ------ &1 T sam|
A. Knowledge B. Body A TH B. 3T

C. Personality D. Intelligence

C. =Afched D. fegww

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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27.

28.

29.

30.

Right to Free and Compulsory
Education Act is applicable for

children of how many years of age?
A. 6-14 years

B. 7-13 years
C. 5-11years
D. 6-12 years

Which of the following is not a study
skill?

A. Writing formal reports
Note taking
Using a dictionary

Getting information from an
encyclopedia

B.
C.
D.

Understanding level of teaching
includes------
() Memory
(1) Insight

A. (1) &I
B. (II) & (1)
C. (&
D. (I) & (1V)

(1) Aptitude
(1V) Creativity

School based continuous and
comprehensive evaluation is useful for
students to-

A. Reduce stress

B. Make evaluation regular
C. Judge their own work
D. All of the above

27.

28.

29.

30.

sl o o1 1 37ceh W Safard et <1
e rferfrey foha v & s==r & ford
A &7

6-14

7-13 a9

5-11 99

6-12

(e aN

HfARgd § 9 I 91 3734 i Tl
22

A. o=nfes fard foraar

B. AT

C. IToCehITT T STANT HET

D. Uk fIgehisr & SHRRT ITH hil

oo w >

ap

f3reqor & ove T § A &
1 = (I1) 3w
(II1) Hagst (IV) TETcHShdT
A. (D &)

B. (I) & (II)

C. (I) & (Il

D. (I & (IV)

forITear HATUTRA Eed T saTIeh Hedish
foremfofn & forr st 2-

A. TTE &I FHE L

B. HedAih fHafid &t

C. 39 Y ol TodIoh TRl hL

D. 3Wh H ¥ oeft

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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PART - 11

Hindi =
31. afeq Yy fa=se = g 34. i o wefer o U forshed o <M
A. 3T +3fed shifere- 5 ot P
() I 60198 T &
B. s+ EREILHPEIR G RIRSISIRED
C. 3F+ 3 St B2
D. 3+ 3feq (I1) & Sfrfer <t aiver areft wr-gfeah
32, foAferfiae & s T i LRIEEIS IREARIPEISIRS RIS |
FEATdT B
A S (I11) TS ST 3] HEHd AR H ATareh
B. o, 3t 3168 TG o 2
C. gU (IV) SIS, 73T, weapa ol € ate o=t o
D. 3,31 off 1 foefT A e Bl
A. FHad (1) Te (IV) 9 Tt 2
B. (D), (ID), (I1I) W& (IV) TRI e Tt
2
C. ad (1), (1) W& (111) T T=T
D. et (IV) F Hal 2
33. forg forehea & gl sree TR wftr & 82 35. ST hl 3TN o ol sTeat &
A. T, 3, St ﬂﬁ%ﬁﬁ%‘?
B. forw, werem, geenfy Ez; w gi) j
C.  frge, et e (c) &I (1)
D. &, %@Tﬁ,:ﬂﬁ% (d) a;-ﬁ-g\—q av) s
A. a-l, b-Il, c-1V, d-11I
B. a-IIL b-1V, c-I1, d-I
C. a-l, b-1V, c-1, d-III
D. a-IV, b-I11, ¢-I1, d-I
SPACE FOR ROUGH WORK / T% &%t & fo13 siire
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36.

37.

38.

39.

=1 o 9 % 97 e =T 1 g
TR 27
A. T

frfafea & facim A g & yrea w2
I - FHMNF

AT - g

O - IVAET

oo wp

fiEl o1 deaT ee 2-
A. HigeT B. fufgem
C. ot D. gt

e T THa Sreat et |9g

3ferd forehed 1T |1 Y

>

AT, TTTehTehe, TTIHh
AT, TSI, TETSER
TR, TUAYE, ITT

Hedre, Aehia, T

O W

40.

41.

42.

43.

e I FoO1 TG AT % oI T I 8-
A

RGN

B. I

C. Jiear

D. Jedi

=t 7 ST fore=tt R1eaT AT 3Tk T |
§ guford -

(a) TdtaT I S
(b) Temm )  HRE
(c) =M% (1) et

(d) 3R (IV) et

A. a-1V, b-I11, c-11, d-1I

B. a-I, b-1V, c-III, d-1I

C. a-IL b-IIL c-1V, d-I

D. a-1V, b-I, c-I11, d-1I

Ry ferammeff & w1 gt s | famiwor
W‘

A. fommeft B. uy

C. ™ D. 481

T AfewT & =T I R AR H A
T I 27

A. HdY FHh

B. €Y &k

C. HHH

D. 3TUEH HWH

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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A4, G Gy H g FHE/RYHT a1 forehed

45.

46.

T =TT hiTSTU-

(1) STel hefl TefeITereh T Ioq STga<
T TR B 8, 79 o SfaaTees 930
EERSIRES

A1) &=t o fo e fores ue=m 2

(1) =fe Tk & e § g |14 & 3
o et far-fr=r &1 ot fspam st &
ST T o6 T o ST7ER grml

(IV) T, e 37T ek o ST T G0
I1eC] o YT Bid 2l

A. Fad (), (1) T (1)

B. hadt (III) T (IV)

C. &ad (1), (1) T (IV)

D. ad (1), (I) T (IV)

oIhT, 2TaT 372aT fordt 311 =af<h o foe

SIh B ST FeATH 68 fohd 91 o & |
ST ST 82

A. HeHaT GoH
B. YRYaT GaAH

o (o
C. TSIdT=eh 9dd™

D. e ga4m

T we vt forameff 21 oy &
foreres 2-

A T B. 3T&RATi

C. fommeff D. T&

47.

48.

49.

FrrefeRad & sTe7es e &-

TaH SR hT Tet ShT T8 ITET |
58§ g foersr &
THeaT ST &1 &

Hfafer o foTg weh Tetter sht ATt sht
T BT AT

oo w >

e TH TN TGTS F AT Jra THET
HheTdT fHeATY|” SRy hl JehI 2-

A. TgmaTes
B. faftrarres
C. Hehaarash
D. foemar=es

g8, QT ey JHTE H T fope fowr fareg
T ST foreraT 22
A. fidee

C. g94e

B. oo
D. IS

SPACE FOR ROUGH WORK / &% &Td & fo1 e
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50. Frfefad o @ fore o fomg o1 7 3K

51.

52.

A. 31 fm = (;)
B. fidwe e = (-)
C. &Hue AT fYTH g = (.....)
D. *7eq ferm fare = ()
“Feret v < ferameff & S0 Y,
IO AT FE T B

- HETcHT Tt
SURITH U o Telish § bl ©T &7 SFHcT
37

A. T 9T Ife foret 317 o foie shaet
T 8 Y 36 AT Tt ok fore AremeT
I 37T AT R

B. i ot e ol 2 et rifen derehl
- ferfarwand &)

C. foremeff a6 foeft s 7t weHt =nfewy

D. fereft sy off stoft simeT & Aremw @
& Hfieft STt 21

“ohT ST Sel hiY Y@ TAlehifch ol el

31 2-

A. TN g & HfY T AT B 2

B. o a9 § BT 0 G I Hehe AT STl

2
C. &M formre o foru ot =17t B
D. & forres o wgrdr a4 gidl 2l

53. e cires 1 s e 7 2

54.

55.

A, T TS T S S - EH
S8 ¥ frrer

B. ‘SFEN foam o Bid <fiehd I’ Toey
dYer o IR <R B 2

C. bl L AT H ST - HATS ok oA
STHT 91y

D. ‘T T OxEl ol ST - T 3T
T T BT 7; STegarsi & 7|

T T T T T 37ef )T 2R

A. T2 ¥ AT ST

B. @ad ¥ uf fersma s

C. Ud &A@

D. yfrTd g

YUS o gUS forermgut eveft A ek

I T ST L 242

A. IR HH & folg

B. Rt et it wfafes o s

C. VR wieH/de Tret o6t afefea o
T

D. R qeasheral i Sféfea & ot
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56. frfcTfad et o ATER W I 7T

57.

o Tl JaTe JTet farshedl ahT =9 shifsTu-
‘USRI &% AE § [ &
T T HET0! 81§ SR WIfeed
Sitem st &, g SR AhERe B
JEIhTOd GV % 3ider S Sfdr -
STTAT T8 B 3HT o el 9T SHT YR ol
I I o TS TS 2] FEdehlerd |
% fou =% 73 a%q 7 8 T AT,
ferarTer ST TUTer 3T |UE! % T T
B 9| 3k ATh fagseH & oa f5sht
qEdshTerd |l A A1 HEUTheAT o SATFIShR
§ T TEdehi I HUE AT SRS hl T8
T ST A ofT| W o TeshTord §HI T H
AT Gt T T Al T B F AR
TS WHIET o S0 qe qe feuf W =,
HIE ehid Gt e <l @ gve * goe
fererrrft wweft TS sk IR STRIT hLd
Ol

5T : TRITST T IUH T ©-

A. TEUTHRAT SR GEqehTer
B. TEhcid SR WRd

C. ARdHITE  D. grfecai-fd

et JEdehTerd fof-fohet el ox g shid
a7

ERIRPRACIGERE RISERT
EEINRRHIECINPREAERIERINRI
qeITITEAT U ATeter

o o w >

c_o
SIEEIREAIGEAR!

58. el AT | Y T d1cad -

59.

A. fore gu @ st e

B. 0T ol ST STeOT HLAT
C. JTRIT sl Ug=TH qHT

D. eaf 3R Wdfieht ol SireAT

T 378701 H Sk Srsaraieral shi 37k

3T o |1 gHTeTd il

() Torfafe

(1) &af Sreehdr

(1) femifem

V) fe aar

(a) ITSCT ot oAl o 9 | UG, U3
AN

(b) €A qAT Tcftent & s 8 Ty

(c) Tores % sueh # & fog =edter
I§ECE]

(d) T T DI Sh1EAT o &7 H

TR

I-b, Il-c, I1I-d, IV-a

I-c, II-d, I1I-a, IV-b

I-c, II-d, I1I-b, IV-a

I-a, Tl-c, ITI-d, TV-b

o o w >
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60. i fou T heFT | W T T T

ferfeg)

(I) 0% 83 hl 3 o o WINT g
efieft e & wfea 2

(1) B T AT ATUTONAT ol 3T
Tk & 7Y = 9T H Hiea B

(I11) BT T & Y Y3 TS QT i
STBTT T ol T WTT & B
=Ry

(IV) RTESAT &R TR HieH- o o o
ERCRE RIS R

A. FF )T (I) B. F (1) (1)

C. Faad &Y (I) D. FHaed FHAF (IV)
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PART - 111

English

Read the following passage carefully
and answer the questions which are
based on what is stated or implied in
the passage.

Since the world has become
industrialised, there has been an
increase in the number of animal

species that have either become
extinct or have neared extinction.
Bengal tigers, for instance, which once
roamed the jungle in vast numbers,
now are very few and by the year
2025 their population will be down
zero. What is alarming about the case
of Bengal tiger is that this extinction
will have been caused almost entirely
by poachers who according to some
sources, are not interested in material
gain but in personal gratification. This
Is an example of the callousness that is
part of what is causing the problem of
extinction. Animals like the Bengal
tiger, as well as other endangered
species are a valuable part of world's
ecosystem. International laws
protecting these animals must be
enacted to ensure their survival and
the survival of our planet. Countries
around the world have begun to deal
with the problem in various ways.
Some countries, in order to
circumvent the problem, have
allocated large amount of land to
animal reserves.

61.

62.

63.

TS

They then charge admission to help
defray the costs of maintaining the
parks and they often must also depend
on world organisations for support.
With the money received, they can
invest in equipment and patrols to
protect the animals. Another solution-
that is an attempt to stem the tide of
animal extinction is an international
boycott of products made from
endangered species. This seems fairly
effective, but it will not, by itself,
prevent animals from being hunted
and killed.

What is the author’s main concern in
this passage?

A. Problems of industrialisation

B. The Bengal tiger

C. Endangered species

D. Callousness of man

Certain species are becoming extinct
because of-

A. Industrialisation

B. Poaching

C. Love of products made from them
D. All of the above

Which of the following best describes
the author’s attitude?

A. Concerned B. Vindictive

C. Surprised D. Generous

SPACE FOR ROUGH WORK / &% &Td & fo1 e

20462-YKIWZ-ZKZ-UPR-ELE-E1

18

39 Set A



64. According to the passage, Poachers
Kill for-

A. Material gain
B. Personal satisfaction
C. Both

D. None of these

65. What should be enacted to ensure
survival of endangered species?

A. Boycott of products made from
endangered species

B. International laws

C. Investment in equipments and
patrols to protect the animals

D. None of the above

66. The word “gratification’ in the passage

is-
A. anoun

B. averb

C. an adjective

D. none of the above

67. Which of the following word is closest

in the meaning to the word
‘circumvent’ in the given passage.

A. find a way around
B. togo
C. avoid
D. to follow

68.

69.

70.

“Countries around the world have
begun to deal with the problem in
various ways.”

The above sentence is in-

A. Present indefinite tense

B. Future indefinite tense

C. Present perfect tense

D. Future continuous tense

The word ‘defray’ in the passage
means-

A. provide

B. cover

C. subsidized

D. (A) & (B)

The Phrase ‘stem the tide means’-
A. same

B. stop
C. touch
D. spare

Read the following Unseen Poem
carefully and answer the questions
which are based on what is stated or
implied in the Unseen Poem.

Come in! - the Mayor cried, looking
bigger:

And in did come the strangest figure!
His queer long coat from heel to head
Was half of yellow and half of red,;
And he himself was tall and thin,

With sharp blue eyes, each like a pin,
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And light loose hair, yet swarthy skin,
No tuft on cheek nor beard on chin,
But lips where smiles went out and in-
There was no guessing his kith and
Kin!

And nobody could enough admire
The tall man and his quaint attire:
Quoth one: It's as my great-grandsire,
Starting up at the Trump of Doom's
tone,

Had walked this way from his painted
tombstone!

He advanced to the council-table:
And, Please your honours, said he, I'm
able,

By means of a secret charm, to draw
All creatures living beneath the sun,
That creep, or swim, or fly, or run,
After me so as you never saw!

And | chiefly use my charm

On creatures that do people harm,
The mole, and toad, and newt, and
viper;

And people call me the Pied Piper.
(And here they noticed round his neck
A scarf of red and yellow stripe,

To match with his coat of the self-
same cheque;

And at the scarf's end hung a pipe;
And his fingers, they noticed, were
ever straying

As if impatient to be playing

Upon this pipe, as low it dangled
Over his vesture so old-fangled.)

Yet, said he, poor piper as | am,

In Tartary | freed the Cham,

Last June, from his huge swarms of
gnats;

| eased in Asia the Nizam

71.

72.

73.

74.

Of a monstrous brood of vampyre-
bats:

And, as for what your brain bewilders,
If I can rid your town of rats

Will you give me a thousand guilders?
One? fifty thousand! - was the
exclamation

Of the astonished Mayor and
Corporation.

The Pied Piper demanded-

A. One fifty thousand guilders

B. Fifty thousand guilders

C. One thousand guilders

D. Fifty one thousand guilders

Find from the following the most

suitable expression similar to “quaint
attire.”

A. Odd demeanour
B. Whimsical nature
C. Strange dress
D. Elegant figure

Which of the following describes the
complexion of a person?

A. Blue B. Swarthy
C. Loose D. Impertinent

‘Bewilders’ means-
A. confused

B. perplexed

C. enlightened

D. (A) &(B)
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75.

76.

77.

78.

The word ‘Vesture’ in the given poem
means-

A. neck

B. apparel

C. face

D. none of the above

Receptive skills in language are-

A. listening and writing

B. speaking and reading

C. reading and listening

D. writing and speaking

Which of these is a language function?
(a) Giving directions

(b) Making a request

(c) Greeting each other

(d) Using grammar accurately

A. (a) and (b)

B. (a), (b) and (c)

C. (a), (b) and (d)

D. (a) and (d)

Read the conversation.

A : How about going to the fair?
B : | went.

A : When?

B : Tomorrow
Here ‘I went’ is an error related to-

A. spelling
B. word choice
C. tense

D. pronoun

79.

80.

81.

Reading comprehension can be done
even if the reader-

A. can identify the words if the text is
read out to her / him.

B. only repeats aloud after the
teacher.

C. does not know the meaning of all
the words in the text.

D. does not understand the meaning,
but know the pronunciation of all
the words in the text

For acquiring one’s mother tongue,
one first-

A. just listens

B. learns grammar

C. learns writing

D. speaks the language

To cater to individual difference a
language teacher should use-

(@) textbook

(b) audio-lingual materials

(c) videos

(d) any one of the above

A. (@)

B. (a), (b) and (c)

C. (@)

D. (b)and (c)
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82. Productive skills in language are- 86. For Assertion (A) and Reason (R)
A. listening and writing Choose the correct alternative.

: . Assertion (A) : For remedial teaching
B. speaking and reading o : ,

_ S it is important to diagnose students
C. reading and listening needs.
D. writing and speaking Reason (R) : A diagnostic test shows
the precise needs of the learners.

83. For effective oral communication- .
A. Both Assertion (A) and Reason

A. one should do grammar drill (R) are true and Reason (R) is
.re(:;ularly _ _ necessary for Assertion (A).
B. it is appropriate to be consistently B. Both Assertion (A) and Reason
Inaccurate (R) are true but Reason (R) is
C. only grammatically accurate NOT the correct explanation of
sentences are acceptable Assertion (A).
D. appropriateness is more important C. Assertion (A) is true but Reason
than grammatical accuracy (R) is false.
D. Assertion (A) is false but Reason
(R) is true.
84. Dyslexia is a ------- disorder. 87. Read the test item given below-
(a) language Arrange the following steps to make
(b) hearing lemonade-
(c) Kkinesthetic (a) Add lemon juice, sugar and water
(d) vision (b) Serve in atumbler.
The test item tests-
B. (a) and (b) A oredict
C. (b)and (d) B. predicting
D. (d) only . grammar |
- o C. word-choice
. Which is the most formal request? D. sequencing

A. Can | come in?
B. May | come in?
C. Might I come in?
D. Could I come in?
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88. A test item for speaking can be- 90. The subskills of listening include-

A. oral and written () understanding facts
(b) drawing inference

B. oraTI only (c) predicting
C. written only (d) understanding the main idea
D. silent, through actions A. (a) only

89. While teaching writing letters, B. (a), (b), (c), (d)
teachers should- C. (a) and (d) only
A. begin with free writing D. (b) and (c) only
B. begin with writing poems

C. always write letters on the
blackboard for students to copy

D. begin with analysing good models
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91.

92.

PART - IV (A)

Candidates who have opted for
Mathematics and Science at the time
of application, should solve this
section and candidates who have opted
for Social Science at the time of
application, should not solve this
section.

Mathematics and Science

Who named ‘Banking Model’ to a
particular way of learning?

A. Bruner

B. Piaget

C. Paulo Freire
D. Vygotsky

What is expected in a constructive

classroom?

(a) children peacefully follow the
teacher.

(b) actively participate in the
activities.

(c) discuss openly.

(d) practice solved questions.

A. (a) and (b) only

B. (b) and (c) only

C. (a), (b) and (d) only

D. (a), (c) and (d) only

91.

92.

S Srfieaml = SATee o @He Tt SR
o =1 forered =T o1, o 39 Tl g
Y ST o Iefiaami 3 3Taed & 9
TR LA T fehed <A1 o1, 9 36
WTTT sh et T8l ot |

Tifore o fomm

Ha o U fomiy alieh sl feremy St
Hige 1 A feam?

A. T

B. s

C. T3l 3T

D. aTTeEsht

Teh ToHTATE! Shell § T 3TUTeTd 2

(a) ST Tifaqaeh [R1&Teh T JTETT ]
(b) ToramereTdt & wfsrer wmflert )
(c) Gt form fomet i

(d) & forT w5t 3T 37w )

A. Fad (a) 3T (b)
B. ad (b) 3 (¢)
C. ad (a), (b) 3 (d)
D. %ad (a), (c) 3T (d)
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93.

94.

95.

What should be included in the

‘Learning Model’ regarding a child’s

learning of mathematics?

(a) understanding ‘what learning is?’

(b) understanding ‘how children
learn?’

(c) using algorithms

(d) nature of subject matter

A. (a) and (c) only

B. (b) and (d) only

C. (a), (c) and (d) only

D. (a), (b) and (d) only

The logic we use to prove the

‘Pythagorean Theorem’ is-
A. inductive logic

B. deductive logic
C. empirical logic
D. creative logic

If Q, W, N and Z represent the sets of
rational numbers, whole numbers,
natural numbers and integers
respectively then what would be the
appropriate sequence to learn the
number system?

A . No>W—->Z2-5Q
B. WoN—>Z2-50Q
C. NoZ->Q—->W
D. Z5Q—>N—->W

93.

94.

95.

Teh S5 o T1UTd |iE o G=ey § Hie &
Ui | FIF-HH G I1d Ffeaferd gHt
aTfe?

(a) “HRGHT FAT Y T wHS

(b) ‘<o T HiEd 82 i oug

(c) “UNNGH’ T ITANT

(d) Torsrr e 3 SRl

A. Fad (a) 3R (¢)

B. @ad (b) 3R (d)

C. &ad (a), (c) 3 (d)

D. %ad (a), (b) 3T (d)

qTSYTTRH JH i fireg i o fot g9
fSre e T ST LA €, 9 8-

A. ITHE qeh

B. fmfye ash

C. AT doh

D. TATH deh

It Q, W, N 37T Z ShHsT: UiHT STy,
oh TH=I sh Y& IR1d shid &I dl ST Teatd
=l TG o e St shw == g

A . N>oW->7Z->Q

B. Wo>N->Z->Q

C. N>Z->Q—->W

D. Z5Q—>N—>W

SPACE FOR ROUGH WORK / &% &Td & fo1 e

20462-YKIWZ-ZKZ-UPR-ELE-E1

25

39 Set A



96.

97.

98.

99.

100.

101.

24 7x+7x% +2x° B
1+2x

A 2%x24+3x+1 B. 3x%2+2x+2

C. x243x+2

D. x2+2x+3

i 9"x3x3"-(27)" 1
33M 93 27’
then the value of (m—n) is -
Al B. -1
C. 3 D. \2/3
The value of 22 +42 +62 +....+ 20°
is-
A. 1405 B. 1504
C. 1450 D. 1540

If 2x+3y =8 and Xy =2, then the
value of 8x> +27y3 is-

A. 242 B. 422
C. 224 D. 244

The sum of first n terms of the series
1 3 7 15 )

4 —4+—+.... S

2 4 8 16

A on_q B. 1-27"

C.2"_ns1 D 2"4n-1

The ratio of ages of Ramesh and
Suresh is 4:5. After 12 years, this
ratio will become 5:6, then the
present age of Suresh is-

A. 24 years B. 36 years
C. 48 years D. 60 years

96.

97.

98.

99.

100.

101.

2+7x+7x2+2x3_
1+2x

A 2x243x+1 B. 3x%2+2x+2

C. x243x+2 D. x2+2x+3

s 9"x3x3"-(27)" 1

33mX23 27’
as (Mm—n) A 8-
A. 1 B. -1
C. 3 D. J2/3
22 +4% 462 + ...+ 20° FI A &-
A. 1405 B. 1504
C. 1450 D. 1540

It 2x+3y =8 R xy =2, a9
8x° + 27y HIHM 2-

A. 242 B. 422

C. 224 D. 244

oo L0300 D Svem g weia
2 4 8 16

0T B-

A n g B. 1-27"
C.2"_nt1 D. 2"+n-1

THRT T G T AT 61 300 425 2112
Y UTd, Tg AT 5:6 € S,

G il A 3 2-
A. 2499 B. 3698
C. 489 D. 6099
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102.

103.

104.

105.

106.

If two numbers are 20% and 50% of a
number, what % is the first number of
the second number?

A. 30% B. 35%
C. 40% D. 45%

A train 600 meters long is running
with a speed of 72 km/hr. In what time
will it pass a tunnel 300 metre long?

A. 45seconds B. 50 seconds
C. 48 seconds D. 42 seconds

If Xx:y:y:zthen x:z=
A 72:x?

C. x2:y2

B. x2:1
D. y2 X2
If purchasing price of 60 books is

same as selling price of 40 books, then
the gain % will be-

A. 40% B. 50%
C. 45% D. 55%

The area of the circle in which a
square of area 144 cm?is inscribed, is-
A. 621

B. 2=
C. 8lm
D. 98~n

102.

103.

104.

105.

106.

Ife 3 U, Teh AT Y SHUTT: 20% T

50% B, T Teell HET, GEL HEAT sh
foRerT % 72

A. 30% B. 35%

C. 40% D. 45%

Teh o foraeht owelts 600 WX ®, 72
5.1t/ SieT <t THIR W = W R1 300 HieX

ST T bl IR T | 38 feheHT @
I

A. 459FTg B. 50 9avg

C. 48 TUahvg D. 42 9FUg

A X:yy:izaAT X1z =

A 22-%2 B. x%:1

C. x2:y2 D. yz:x2

AT 60 T T 563 T 40 TEIhI o
fersher e o @HH €, T 19 % B
A. 40% B. 50%

C. 45% D. 55%

I T &k, FoTem Ichiof ot o garehet
144 T2 2, BT

A. 621

B. 2x

C. 81m

D. 98~
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107.

108.

1009.

110.

The perimeter of a rhombus is 160 cm.

If one of the diagonals is 60 cm, then
the area of the rhombus is-

A. 3003 cm? B. 300+/5 cm?
C. 30046 cm? D. 3007 cm?

The lengths of the sides of a triangle
are 5cm, 12 cmand 13 cm
respectively. What is the length of the
perpendicular from opposite vertex to
the side 13 cm long?

A. 60 63
—Ccm B. —cm
13 13

C. 53 50
—CcMm D. —cm
13 13

If the angle of a triangle are in the
ratio 2:3:4. Then the measurement
of largest angle will be-

A. 60° B. 80°
C. 90° D. 110°

The area of four walls of a room is
216m?. The length is twice the

breadth and height of the room is 4 m.
Then the floor area is-

A. 144m?
B. 152m?
C. 162m?
D. 172m?

107.

108.

1009.

110.

T TS T aiETT 160 S 21 AfE
36k U foremuf st cwars 60 Ot R, a
TS T &TH 8-

A. 300382 B. 300+/5 a2
C. 300682 D. 300+/7 a2

ek POt ol STT3AT ohl STFEITSAT SHHRT: 5
awfl, 12 9 T 13 Tt 21 foodia s & 13

Gt el S[SIT 0 STed T el shl TS o
gnfo
A @ B. @
13 13
C. @ D. @
13 13
F(fe T gt o ShIvl o1 SFqUTT 2:3:4 8
el U8 SIS ShHIVT T HTY BITT-
A. 60° B. 80°
C. 90° D. 110°
e L T TR SaRT T Qe 216 T 2
2| L T TS, =ISTS i &1 AT &
Sa1S 4 HY. 1 99 B 1 STHA -
A 144112
B. 1502
C. 16272
D. 17242
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111.

112.

113.

114.

115.

If the total surface area of a cube is
1176 cm?, then its volume is-

A. 2197cm®  B. 1176+/3cm®

C. 2744cm® D. 2474cm?®

The diagonals of a rectangle is twice
of one of the sides. The ratio of the
sides of the rectangle is-

A. 2:\/§ B. \/E\/g
C. 1:43 D. 1:243

ABCD is a quadrilateral in which
AB=6cm, BC=12cm,

CD=15cm, DA=7 cm and
BD =9 cm. The area of quadrilateral
Is-

A. 65.75cm? B. 70.28cm?

C. 72.68cm? D. 74.98cm?

If the diameter of base of the right
circular cylinder is 14 cm and height is
12 cm, then the total surface area of
right circular cylinder is-

A. 1672cm?  B. 836cm?

C. 418cm? D. 863cm?

If the perimeter of a right angled
isosceles triangle is +/2 +1, then the
length of the hypotenuse will be-

A 1 B. 242
C. 2 D. 32

111.

112.

113.

114.

115.

At fopeft o o1 &l 98 &eee
1176 cm? 2, ds IGHT AT 8-

A 21978 B. 1176/3&H°
C. 27445ef® D, 2474 a3

T ST o 01 ST Toh 31T & &1 7T 2
ST T ST 3T STITA 2-

A 2:3 B. V2:43

C. 1:3 D. 1:24/3

ABCD U =q4s & fod AB = 6 9,
BC = 129#I, CD = 15 4#l, DA = 7 &1
T BD = 9 §f| ST 1 &t -

A 657502 B.70.28 T2
C. 72682 D, 74.98 Q2

TS Tk el I SIet ok STTER T AT
14 Tt qoT =g 12 Tt 2, e el Il
ST T | & 8-

A 167202 B. 836 a2

C. 418a2  D. 863 awft?

Uk GHISHTE THehT0T gt ot aftamd
J2 +1%, q 35k faehut shi wwalrs B
A 1 B. 242

C. 2 D. 32
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116. The mean of first 50 natural numbers 116. g9 50 STehd TEATST T HTE 2-

15 A. 24
A. 24 B 245
B. 245 ' ’
C. 25 C. 25
D. 255 D. 255
117. The arithmetic mean of the following 117. {31 STTehet b1 THT=L HTE 2-
data IS- 3% fae | 0-20 | 20-40 | 40-60 | 60-80 | 80-100
Pglfcrf]gﬁige 0-20 | 20-40 | 40-60 | 60-80 | 80-100 ﬁw@;ﬁfﬁ o | 10| 13| 15 g
ool | 2 | 12 | 13| 15| 8
A. 55
A. 55 B. 56
B. 56
C. 58
C. 58
D. 54 D- 54
118. In the following pie-diagram, if the 118. faw urg-fomt o I et 3o 720 7,
total marks are 720, then the marks foTa o ITH 37 B-

obtained in Mathematics are-

A. 144 A. 144
B. 196 B. 196
C. 192 C 192
D. 96

D. 96
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119. The birth-rate of which Country is
25% more than that of Germany, in

the following bar-diagram?

30 &

23071 —
3
32571
£, 2 )
g 15 gl 8 |2
g1 Ll 18 |
1071 1F I8 £
551 7 |5 &

0 Countries
A. India B. China
C. Sweden D. England

120. In the following pie-diagram, the ratio

of the personal income of the age-

group 25-34 to that of the age-group
35-44 is-

100% = 2499.4 Billion

A

B.

MNP NN

119. 7 Ty formr o for <31 ) SO 1

STHAT & 25% 3feren 292
33
30 —
130" [ ]
% 25 1
20
20 + 1
15 5 [ S F
3
210t [ %
%
5 5 1
0 2y
A. ¥R B. =4

C. Wieq D. ¥ig

120. fe urd-fosr o S af 25-34 wd 37 &t 35-
44 Y TR T T ST 2-

100% = 2499.4 3

A. %
B. %
C. %
D. %

20462-YKIWZ-ZKZ-UPR-ELE-E1
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121.

122.

123.

Night blindness is caused due to
deficiency of-

A. Vitamin D
B. Vitamin K
C. Vitamin A
D. Vitamin E

The type of ribosomes found in
prokaryotes is-

A. 80S
C. 60S

B. 70S
D. 50S

Choose the correct option-
Assertion (A) : Some cells enters G

phase leading to inactivation of cell
cycle.
Reason (R) : Gy phase occurs due to

non availability of mitogen and energy
rich compound.

A. Both Assertion (A) and Reason
(R) are true and Reason (R) is the
correct explanation of Assertion
(A).

B. Both Assertion (A) and Reason
(R) are true but Reason (R) is not
the correct explanation of
Assertion (A).

C. Assertion (A) is true but Reason
(R) is false.

D. Assertion (A) is false but Reason
(R) is true.

124. Cell was first discovered by-

A. Robert Hooke B. Leeuwenhoek
C. Schleiden D. Virchow

121.

122.

123.

124.

Tateft foperh Rt o o BT 27
A. foem=
B. faerfma
C. faenfimt
D. faerfi=g

TR | TESE T ohT Yo ITIT ST ©-

A. 80S B. 70S
C. 60S D. 50S

AR (A) : FO HIRTERT G €A H

JOIST Lt & ToTereh ShILUT ShIfITeRT <ish

fassher 21 St 21

FRT(R) : G, e THISH Ta Sastl

Teg 2fiTeR 3T TS o T Bl 2

A. 3THAT (A) T HROT (R) SHT T &
I W7 (R), 3R (A) it et
ST 2

B. MY (A) T SR (R) 3T @I &
fee ST (R), SR (A) T E&T
AT & 2

C. FNTh (A) ¥4 & fohed 10T (R)
A (TTAT) 2

D. iR (A) 318 (Terq) & fohmg
T (R) T B

HITITRT Shl TUH TR GISIT AT-
A. Tedgs B. TaTE®
C. &ied D. fo=na
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125.

126.

Match Column - I & 11 and select the
correct answer-
Column - 1
(@) Gross Primary Productivity
(b) Secondary Productivity
(c) Producers
(d) Food web
Column - 11
() Green Plants
(I1) Rate of synthesis of organic
matter by consumers
(1) Total organic matter produced
from solar energy
(1V) Interconnection of food chain

A. a-ll, b-111, c-1V, d-I
B. a-l, b-Il, c-lll, d-1V
C. a-lll, b-11, c-I, d-1IV
D. a-1V, b-1ll, c-1l, d-1

Which of the following kingdoms has
no well defined boundaries?

A. Monera
B. Protista
C. Fungi

D. Plantae

125.

126.

HTH - [ 3T 11 T e ol 37 Tt S

sﬁ_
e - [

(a) Tohed TTATHE ScaTEhar

(b) Tedfiae Scdreshar

(c) 33c4Iesh

(d) SRS
e - 11

1) T

(1) STHRBTAL ST ik dwall o (JHT0T
EARLY

(111) TR ST Y Gohed sk aed ahl
IeqTE

(IV) ETE JEATST I SaEa

A. a-Il, b-III, c-1V, d-1

B. a-L b-IL, c-III, d-IV

C. a-IL b-11, ¢-1, d-IV

D. a-IV, b-II1, c-II, d-I
o= o 9 forer s (ke & wfcira
e 72 Bt 22

A. BT

B. Wfewer

C. wke

D. =
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127.

128.

Marble tile would feel cold as
compared to a wooden tile on a winter
morning, because marble tile-

A. is a better conductor of heat than
wooden tile.

B. is polished while wooden tile is
not polished.

C. reflects more than wooden tile.

D. is poor conductor of heat than
wooden tile.

Wind energy-
(I) isan intermittent energy.

(I

is extremely useful at remote and
isolated places.

D)

(1V) is clean energy.

does not depend on weather.

Choose the most appropriate answer
from option given below-

A. (D, (1), (111) only
B. (1), (1D, (IV) only
C. (1D, (1), (V) only
D. (), (1), (IV) only

127.

128.

Gl sht T8 HTelcl S15ed AAohal i

TS Sl QT H €I HeHd Bl F it

TTelet ITEed-

A. TSI T TT5eE shT T H FOHT I
SR HaTEh 2

B. difcter il STt & STelfeh ciohet shi
TS UTforsT Tel ahl STt 2

C. Tt it T5ed O Afeyes gfdfsifea
AT 2

D. el hl 215 shl T H HoHT T
FaITCTh 2l

I Sell-

(I) T SR el 2l

(II)  STEY TS oo SITET 0 el
YA R

(II1) Hreq o st 7t R

(V) =5 9 2l

e fou e foreredt 3 @ weE ST IW

4

p)

A. Fad (D), (1), (110
B. aad (D), (ID), (IV)
C. @ad (ID), (11D), (IV)
D. &aa (1), (I1D), (IV)
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129.

130.

131.

Which is the most simple type of
motion among the following?

A. Motion in straight line
B. Motion in plane

C. Motion in space

D. Motion of projectile

The transfer of heat from hotter body
to colder body is called-

A. Conduction
B. Induction
C. Convection
D. Radiation

Assertion (A) : Heat always flows
from larger object to a smaller object.
Reason (R) : Various modes by which
heat can flow are conduction,
convection and radiation.

Use the following key to choose the
appropriate answer-

A. Both Assertion (A) and Reason
(R) are true and Reason (R) is the
correct explanation of Assertion
(A).

B. Both Assertion (A) and Reason
(R) are true but Reason (R) is not
correct explanation of Assertion
(A).

C. Assertion (A) is true but Reason
(R) is false.

D. Assertion (A) is false but Reason
(R) is true.

129.

130.

131.

frefefaa 5 @ = g8 gt yer i it
27

A. T W Tt

B. d@HTfa

C. ST H T

D. Y& i

T fie o 32 fue § ST st THiawr
FEATAT 2-

A. I

B. U

C. Hasd
D. fafertor

FHUT (A) : ST Had TSI o] & BT I
ot 3T yafed Bl 1

T (R) : faf= goredt fores grr <

T YATE BIdT & o et Hag U farfertor
2l

H=r feu U fareneat vt ST o Tl I
-

o

A

FAT (A) THIT (R) SHT TeT &

3T R (R), FUT (A) T &

TSR 2|

B. & (A) 3R (R) ST cd &
T W (R), AT (A) T &=l
TSR T 2

C. & (A) T&I 8 W HA (R) TTeAd =l

D. % (A) TTeld & W R (R) Tl 2
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132.

133.

134.

A passenger standing in a moving
train suddenly falls forward when the
train comes to stop.

Which of the following causes the
passenger to fall?

A. Gravitational force

B. Frictional force between
passenger’s feet and the floor

C. Inertia due to change in velocity
D. Muscular force

A freely suspended bar magnet rests
in-

North-South direction
East-West direction

North-East direction

Any direction by chance

SO w>»

Assertion (A) : The object distance is
the distance of object from lens.
Reason (R) : It is measured from
object to optical centre of the lens.

A. Both Assertion (A) and Reason
(R) are true and Reason (R) is the
correct explanation of Assertion
(A).

B. Both Assertion (A) and Reason
(R) are true but Reason (R) is not
the correct explanation of
Assertion (A).

C. Assertion (A) is true but Reason
(R) is false.

D. Assertion (A) is false but Reason
(R) is true.

132. Terdt 3 U GST U I 3 o &bl 0T
IR AT Y TR I ST 2
frfaRaa o @ 4 3wl & i =1 o
21 HehelT 27

A. TECETRYT S
B. Imft o U T Rl o o= oW0T S
C. AT H NI o HRIT STScd
D. AU sIat

133, T F9 § AT gl T B Ko
STTEAT H Tl -
A. IT-afegor feem &
B. a-ufam feemd
C. Suyd fewmd
D. T & et off foem &

134. e (A) - &g hT U, T W e T gl 2
T (R) : 38 & § G 6 THIRTE h5
Ik HTYT ST 2

A. FUF (A) I FHRT (R) ST T B T
T (R) T (A) T & TSR 2

B. &9 (A) 3 N1 (R) SHI TF &
9 HTOT (R) o (A) ol E&l
TR TE 2

C. % (A) e & 9] T (R) T 2l

D. % (A) TTod @ W FRT (R) T 2
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135.

136.

137.

138.

Match the image formed by concave
mirror for different positions of the
following objects-

Column - | Column - 11
(Position (Position of mage)
of Objects)

(@) BeyondC (1) AtC

(b) AtC (1) BetweenF & C

(c) Between (1) At infinity

C&F
(d) AtF (IV) Beyond C

A. a-ll, b-1, c-1V, d-11I

B. a-lll, b-1, c-1V, d-1l

C. a-ll, b-1V, c-I, d-1ll

D. a-1V, b-l, c-II, d-1l1

The image formed by convex mirror is
always-

A. Real

B. Enlarged

C. Virtual and Enlarged

D. Diminished

The number of compressions or
rarefactions per unit time gives-

A. Frequency B. Time period
C. Amplitude D. Pitch

Loud sound can travel a larger
distance due to-

A. Higher amplitude
B. Higher energy
C. Higher frequency
D. High speed

135.

136.

137.

138.

ereey 1 et Rttt 3 fore, vt o

FRUEEIRID R N EERCAREGIE T
it - 1 it - 11
@& ot Rafa)  (afafss 6t Rafa)
(a) CAW 1) CW
(b) CH (1) F3RCH=
(c) CIRFhsa (1) FHdR
(d) FI V) C¥ A

A. a-Il, b-I, c-1V, d-1lI
B. a-lIl, b-1, c-1V, d-II
C. a-l, b-1V, c-I, d-11I
D. a-IV, b-1, c-1II, d-1II

Iaet 4ot grT e wffssr goem gt 2-
A. i

B. &gt

C. 3Tl Td Fer

D. 3T

i $e1s TH | Hie AT foater st @
ST -

A. T B. eIt
cIpjE) D. fi=r

----- SISTE © T Tt st gl o AT Aol

O

np

=T A
3= Sl
o s
3= T

o w >
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139. If 100 joule heat is being generated by~ 139. afe 4Q) wikitiere g 100 S[ ISl Ica
a 4Q resistor then calculate the FT ST @Y & 9 gfaqes & e et &
potential difference between the two e Gfara :AaT T THET -

terminals of the resistor.
A. 20Volts  B. 1.5 Volts A. 2041 B. 1.5dee

C. 25Volts  D. 400 Volts C. 25dlec  D. 40012
140. Match the following components 140. faw 7w forRpq wreeht 1 we et #hi-

T il o o

(a) Transistor (I

(b) uferier (1)
(b) Resistor (1)

(c) Capacitor (1)
(d) sEE (IV)
A. a-1, b-1I, c-11I, d-IV

( (c) wemfed (1) (
? 4

(d) Diode (V)
A. a-l, b-1l1, c-lll, d-1V
B. a-1V, b-lll, c-II, d-I B

C. a1V, b-1, c-lll, d-11 C. a-1V, b-l, c-III, d-II
D D

. a-1Vv, b-ll, c-1, d-111 . a-1V, b-1I, c-1, d-11I

. a-1V, b-111, c-1I, d-I
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141. Which combination shows a circuit

142.

143.

where the current flowing through
each bulb will be the same as the
current at point ‘X’?

() (1

(v)

- » ——

()

A. () and (111) B. (II)and (1V)
C. Only (I1) D. Only (1V)

In 1 minute how much energy does a
100 W electric bulb transfers?

A. 1001 B. 360J
C. 600J D. 3600 J

Statement (I) Laser lights are highly
directional.

Statement (I1) Lasers are used as teeth
whitening tool.

A

B.

Statement (1) is true but statement
(1) is false.

Both the statement are true and (1)
Is right reason for (I1).

Both the statements are true but (I)
is not the right reason for (11).

. Both the statement are wrong.

141, 191 IS Uk Hishe fo@rdn 8 siet

142.

143.

Seh Sies | SEAeTe! a feig X
SEAaTAT YR o G| grf?

) (1

L P | PeP

A. (DRI  B. (1) 3R V)
C. %ad (1) D. &adt (IV)
100 W forea sreet 1 fiete 3 fohet Sst
T LT 82
A. 100J

C. 600

B. 3601
D. 3600 J

FH (1) TSR ATSS AT feenss g
gl

Y (11) TIST 3T JNT 1T bl T i
STl SYHT o &9 | ForaT ST R

A.
B.

HYT (1) T © ATh U (11) T 2
ST U | § ST (11) T (1) et
HHT R

T YT T © TR (1), (11) o Tt
T TET R

. SISl YT T B
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144,

145.

146.

A piece of wire of resistance R is cut
into five equal parts. These parts are
then connected in parallel. If the
equivalent resistance of this
combination 1s R’, then the ratio R/R’
is-

A. 1/25
B. 1/5
C. 5
D. 25
Select the correct match-
Column — | Column — 11
() Tamarind (a) Calcium
Hydroxide
(1) Lime (b) Sodium
Carbonate
(1) Tomato (c) Tartaric Acid
(IV) Washing (d) Oxalic Acid
Soda

A. I-a, II-b, I11-d, IV-c
B. I-c, Ill-a, Ill-d, IV-b
C. I-d, ll-a, lll-c, IV-b
D. I-c, lI-b, I1l-d, IV-a

Lemon juice has-
A. More H* ions, less OH™ ions
B. More OH™ ions, less H ions

C.  Equal number of H* and OH~
ions

D. only H* ions

144,

145.

146.

R SfcRTer aTet A1 % T 2o ol U= aIieR
T ShTeT STl 21 TRt 3 few bt
FHTL H SISl ST 81 Jfe 36 Htsi 1
T SRR R’ 8, A1 3T R/R &-
A. 1/25

B. 1/5

C. 5

D. 25

SHEISIC RIS

o

T -1
) At
(1) =T
(I11) ZHTX
(IV) %9S 9
T EIeT

I-a, I1-b, I1I-d, IV-c
I-c, II-a, [1I-d, IV-b
I-d, Il-a, Ill-c, IV-b
I-c, II-b, 11I-d, IV-a
e % T8 ¥ gl

A H* e e, OH ™ TR &9

T — 11
(a) FHicHIT EZSFATES
(b) Hifeaw Freie

(c) T e

(d) TAfeTeh vt

o w >

B. OH™ s a1ftres, HY sm&m
C. H* s aur OH™ 3T SR
D. Saet H* smm
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147. Which of the following statements is

39
true for 19 K atom?

A. The atom has 39 neutrons.
B. The atom has 39 electrons.
C. The atom has 39 protons.
D. The atom has 19 protons.

148.
decay is-
A. It becomes 6.5
B. It becomes 7
C. It becomes less than 5.5
D. It becomes less than 7.5

149.

Which statement is true about this
reaction?

() Lead is undergoing oxidation.
(I1) Carbon dioxide is undergoing

oxidation.
(1) Carbon is getting oxidized.
(IV) Lead oxide is being reduced.

A. (I)and (1)

B. (1l1) and (1V)
C. (1) and (1)
D. () and (1V)

The pH of saliva responsible for tooth

2PbO(s) + C(s) — 2Pb(s) + CO,(9)

147.

148.

149.

P i & e o g K T

o T 22

A. T H 39 =M &

B. WA H 39 Soidg M BId &

C. ST H 39 M &

D. T 19 WM &

&= &7 ST HWUT & AR o pH -

A. 6.5 ST

B. 7 &S

C. 55U ®HH & AT

D. 7.5 4 FHA & ST

2PbO(s) + C(s) — 2Pb(s) + CO,(9)

39 WTfshaT & ST § hIF ©T e T 87

(I)  ©teT 3T iTereferoT 21 T |

(II) IS STZHATFETIES T ATFETHT &Y
w3l

(1) =Tl ot SATREfeRT0T 81 T&T 2

(IV) &S ATFTEES T YA fohar ST
wIel

A. (1) 3T (11

B. (III) 3 (IV)

C. (II) 3R (1)

D. ()3 AV)
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150. Statement (a) A mixture contains more
than one substance mixed in any
proportion and shows the properties of
its constituents.

Statement (b) Sugar is a homogeneous
mixture.

A. Statements (a) and (b) both are
right.

B. Statement (b) is right but (a) is
wrong.

C. Statements (a) and (b) both are
right, but (a) is not the reason for

(b).
D. Statement (a) is right but (b) is
wrong.

150. e (a) ek frzror 7 foreft oft s1uma & Tk
 1ferek varef i3 21 & TR ueh et
3 TTOT} T G 2
HUT (b) =T Tk G T )

A
B.
C.

e (a) T (b) ST H&T B
9 (b) TRI ® WAfeR (a) TeAd &

H9 (a) 31 (b) T T &, AR (a),
(b) =T ST 7Y Bl

U (a) TR AT (b) TTAd B
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91.

92.

93.

PART - IV (B)

Candidates who have opted for Social
Science at the time of application,
should solve this section and
candidates who have opted for
Mathematics and Science at the time
of application, should not solve this
section.

Social Science

According to ancient scriptures which
of the following was the purchase
marriage?

A. Gandharva Marriage
B. Rakshasa Marriage
C. Asura Marriage

D. Prajapatya Marriage

According to Yagyavalkya, ‘Who has
first right on the property of a sonless
husband after his death’?

A. Son B. Wife
C. Father D. Brother

There is evidence of the practice of
‘Sati Pratha’ being prevalent during
the Gupta period. In which inscription
issued by Bhanugupta in 510 A. D. It
is described-

A. Bhitari Inscription
B. Junagarh Inscription
C. Eran Inscription

D. Mandasor Inscription

91.

92.

93.

o Sefieamt 7 2116ET & gHT AT
LA 1 forehicd AT T, o 36 W
T Y SR I SFiea 5 STaeH o 99
iUt 3R fo =1 forehed =1 o, 3 58
T 1 B &l Y |

ATHTRTR STeTa=
A M o SIER Fefciad § 8
1 53 fofaTg om?
A. Tied fame
B. T&™ foaT®
C. g faame
D. gSiucy faame

AT o6 STER T farfe ufer st 4oy

% STE IHehT TUTT UT T AT foherept
qrare’?

A T B. det

C. fuar D. 91§

TTHERTE H |l ST 3 S=IfeTd &I 2T SHToT
rear 81 510 . H 9T 51T S FoRE g
forer srfirere & et e w1 foaror e
2-

A. it s

B. SHTTE i@

C. T ifieE

D. HeHR Thera
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94. “I am a Poet, my father is a Physician

95.

96.

and my mother grinds grains” In
which Veda is this hymn about the
Varna system given?

A. Rigveda
B. Yajurveda
C. Samveda
D. Atharvaveda

Which of the following is not correct
matched?

() Coins - Epigraphy

(1) Archives — Numismatics

(111) Old document - Paleography

A. ()and (1)
B. (1) and (I11)
C. () and (I1I)
D. (), (1) and (111)

Which of the following place is
famous for prehistoric painting?

A. Ajanta
B. Bhimbetka
C. Bagh

D. Amravati

94.

95.

96.

8 el €, AL Tar e & ST o Arar S
o T T oLt B17 TI0T SqaeeT & S H

I g o o8 § fem gem 22

A. FOG

B. Id8

C. 9Wdg

D. 31ddg
frefeTRad ® & i | @l gafod =2t §?
() & - [eresme

(D) — TERTE

(I11) ST SETars - QUi oRIE
A. (D3R (1)

B. (II) 3T (111

C. (1) 3T (1)

D. (1), (II) 3R (111

frerforiaa o & o1 a1 sud yifaeriee
ferrenett o fore wftres 27

A, 3ITsidr
B. “fiHeice
C. s
D. 3WEd!
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97. Is it correct in the context of Vedic 97. afaek oret o ded o wd) -

Period? FUT (A) : HATH TS TATIHSTET 2T
Assertion (A) : The monks were not T (R) : STl AT & e Hfers wsit
always escapists. e N

Reason (R) : The monks were actually T EISH 5 Her 2l

engaged in finding answers to some A. FIT (A) I FHRT (R) SHT T=T 7 3R
fundamental questions. T (R), o (A) 1 G =ame 2

A. Both Assertion (A) and Reason
(R) are true and Reason (R) is the

B. &Y (A) S HNT (R) SHT T 2,

correct explanation of Assertion qfehd ST (R), e (A) 1 H&l
(A). ST T 2
B. Both Assertion (A) and Reason C. oM (A) TeT 2, AFHT HRT (R) Terd
(R) are true, but Reason (R) is not ' 3 ’
the correct explanation of |
Assertion (A). D. %9 (A) TTeId 8, AT IROT (R) T
C. Assertion (A) is true, but Reason 2l
(R) is false.
D. Assertion (A) is false, but Reason
(R) is true.
98. Where have the remains of Godibada 98. ey =Tt wwrdT H TSl (SRATE)
(Dockyard) been found in the Indus XY FeT firet 82
Valley Civilization? .
/- A. SHTATsTT
A. Kalibangan
B. Mohenjo Daro B. HeFl agt
C. Banawali C. St
D. Lothal D. dr
99. Who among the following gave the 99. uTg =T YEaaH 7 (3.1416) Ffeafad o
purest value (3.1416) of Pi? o fores samm
g\. :;ahkmaguita A. SETH
. Bhaskaracharya c
C. Varahamihira B.
D. Aryabhatta C. e
D. iwg
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100.

101.

102.

Where was the Buddhist Stup of
Borobudur built by the Shailendra
Empire?

A. Java
B. Sumatra
C. Malaya
D. Bali

Match List - | with List - Il and select
the correct answer from the codes

given below-
List - | (Emperor) List - Il (Titles)
(a) Ashoka (I) Vikramaditya

(b) Samudragupta (Il) Priyadarshi
(c) Chandragupta Il (I11) Shakraditya
(d) Skandagupta (IV) Vikramank

A. a-1V, b-Il, c-l11, d-1

B. a-ll, b-1V, c-1, d-1ll
C. a-ll, b-lll, c-I, d-1V
D. a-1V, b-lll, c-Il, d-I

Who has written that the Maurya
Army had 6,00,000 infantry, 30,000
cavalry and 9,000 elephants?

A. Megasthenes
B. Ptolemy
C. Pliny

D. Fa-hien

100.

101.

102.

SIS, ATHTSY o ST SISl siies &qd e
ST T2

A. Sar
B. gwen
C. AT
D. dret
=it - 1ol gl - 118 gaferd hifsre qen
et fou T it TR & EE S T =
HifTe-

geft - [ (ImeeR) g - 11 (3T)
(a) SMH OBREERIED]
(b) HHSE (1) st
(c) KW II (11l) ITshIfCeT
(d) ThaTH (V) faseaien
A. a-1V, b-11, c-111, d-I

B. a-ll, b-1V, c-1, d-1lI
C. a-ll, b-ll, c-l, d-1V
D. a-1V, b-1ll, c-Il, d-I

e fora & for Wil &1 1 6,00,000 T,
30,000 FSHAT 371X 9,000 BTt A2

A. e
B. It
C. Wit
D. WI-gH
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103.

104.

105.

During the 10™-11" Century CE the
Sufis were organized in how many
orders/Silsilas?

A. Ten

B. Eleven
C. Twelve
D. Thirteen

Which of the following pair is not
matched?

A. Andal, Nammalvar - 800-900 CE
B. Basavanna - 1100-1200 CE

C. Shankardev, Tukaram - 1400-1500
CE

D. Ramananda, Chokhamela - 1600-
1700 CE

Select the correct answer by matching
List - 1 with List — 11,
List - |
(@ Namdev
(b) Chaitanya Mahaprabhu
(c) Ramanujacharya
(d) Ravidas
List - 11
()  West Bengal
(1) Maharashtra
(1) Uttar Pradesh
(IV) Tamil Nadu

A. a-lll, b-1l, c-1, d-1V

B. a-ll, b-I, c-1V, d-lll
C. a-ll, b-lll, c-I, d-1V
D. a-1V, b-lll, c-Il, d-I

103.

104.

105.

10 =fi-1 13T rciTset 3 SR Gt i foha
S/t # SiTfod fera T om?

A. T

B. @R

C. 98
D. a®

Frrferfad s sirer gafoa 7= 22
FeT, THIEEN - 800-900 3.9
FTEET - 1100-1200 .87

RIS, TR - 1400-1500 $.67
U, FETHAT - 1600-1700 3.8

o w >

Tl - - 11 9 e ot wet S

1 3! gt
T4-
gt - 1
I HETY

() ufym e

(I) HENISE

(1I1) ST JeT

(IV) aftrerrg

A. a-lll, b-Il, c-I, d-1V
B. a-Il, b-I, c-1V, d-I11
C. a-ll, b-1ll, c-1, d-1V
D. a-1V, b-Il, c-Il, d-1
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106. The following statement(s) is/are

107.

related to the early traditions of

Bhakti. Which is/are correct?

(I) During the evolution of various

forms of worship, the

saints/poets usually emerged as
leaders around whom there
developed a community of
devotees.

Brahmanas continued as

important mediators between

gods and devotees in several
forms of Bhakti.

(1) The Bhakti traditions was usually
classified into two broad classes:
Saguna (with attributes) and
Nirguna (without attributes) by
historian.

A. Only (1)
B. (I)and (II)
C

D

(1

. () and (I1)
. All of the above
Where did the soldiers start the revolt
on 10" May 1857?
A. Kanpur
B. Bairakpur
C. Lucknow
D. Meerut

106. fr=faritad e/ vith it arfiyes

107.

TRl § Heiferd & 374 i |1 |et 2/22

(I) I o fofsr Tt & foepme

T, Fel/ahier STHIR W UH 3dT &

Y § I STk STTEUTE Whi T Teh

Tar foenfia g3

Witk o ohs Tyl H SR, T3

3T Whi o s HEIqul eI o

9 T o4 B

(I11) 97*F T T SAHAR T
SfeTaeRI ST &l SATIeh ol o
Sttt ToRaT T 9T T SR o

A. Fad (1)

B. (I) 3R (1I)

C. (D) 3R (1)

D. 3wk auft

Y

10 % 1857 1 &R 7 it forsie 3
foRaIT?

A. FEAR
B. T

C. d@ia
D. 7
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108.

1009.

110.

111.

Who among the following was made
the Governor / Subedar of the South
by Jahangir in 16167

A. Khurram
B. Malik Amber
C. Aziz Koka
D. Abdulla Khan

Which was the highest final court of
appeal during the Mughal Period?

A. Kazi

B. King/Badshah
C. Diwan-i-Ala
D. Kotwal

In which year did Akbar abolish
Jaziya tax?

A. 1565
B. 1566
C. 1567
D. 1568

Shah Mal is related to which state?
A. Uttar Pradesh

B. Assam

C. Madhya Pradesh

D. Bengal

108.

1009.

110.

111.

T 1616 1 TR 3 7 1 9 foraent féqor

T GIGTL ST T

A g™

B. HfcTeh 3T

C. 3TSIIST kT

D. ¥sgeel @i

IS 1t H ST o wiedt Sifem
SATATAT I T T2

A. IS

B. WU/ AGIME

C. dEH-T-3Te

D. sidard

I1eheR 3 Tohe o1 o STfsrrm s g femam
or?

A. 1565

B. 1566

C. 1567

D. 1568

TITE A o1 il Shd TS A 27
A. ST IR

B. J@H

C. 9T YeW

D. s
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112.

113.

114.

115.

Who was the Governor General of
India at the time of the Revolution of
18577

A. Wellesley
C. Canning

B. Dalhousie
D. Clive

Consider the following statements-

(I)  Akbar has banned the practice of
Sati where the widow was burnt
on her husband’s funeral pyre.
Akbar discouraged child
marriage and encouraged widow
remarriage among Hindus.
Which of the above statement is
correct?

A. Only (1) correct
B. Only (I1) correct
C. (1) and (I1) both correct
D. (1) and (II) both wrong

(1

The name of the General who defeated
Queen Laxmibai of Jhansi was-

A. Dalhousie
B. Hugh Rose
C. Dufferin
D. Curzon

Which of the following was not in the
Preamble of the original Constitution
of India?

A. Sovereign
B. Republic
C. Secular
D. Democratic

112.

113.

114.

115.

1857 <hl Shifd o THIT WA T T STLA
1T o7

A. JeAsTelt B. SEist

C. & D. asd

frefaRad et w fomm Hifs-

(1) Fehe = g st ferat W foreran & S/
ST T Tl TT O% Tk & T o)

(II) 3Teher 3 1T fIaTE <Al Tl
foparm om femgatt 4 forera qrfdlame =i
SrcaTted foram|

SRIH T H 8 I T 2

A. Fad (1) T

B. adt (II) Wt

C. (DT ) ST T

D. (I)d (I1) 1 TTetd

AT SRl T AEHISTS ohT TSI ShiaTet

SR T AT oT-
A. SRS

B. @S

C. THE

D. s

REEEERIRECER CRICEIEC)
JEATSHT B e T2

A. R T TR

B. TURA

C. dy s

D. S@rhditeh
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116.

117.

118.

Match the following-
Column — 1
(I) President’s Rule
(1) Maternity Leave
(1) Compulsory and Free Education
(IV) Respect to National Flag and
National Anthem.
Column —1I
(@ Fundamental Rights
(b) Fundamental Duties
(c) Emergency Provisions
(d) Directive Principles to State

Policy
A. I-a, lI-b, lll-c, IV-d
B. I-b, lI-d, lll-c, IV-a
C. I-c, lI-b, lll-d, IV-a
D. I-c, lI-d, Ill-a, IV-b

When was the Constitution of India
adopted?

A. On 15" August, 1947

B. On 26™ November, 1949
C. On 26" January, 1950
D. None of the above

Which Constitutional Provision
bestows reservation for admission into
educational institutions?

A. Article 14

B. Article 15(5)

C. Article21 A

D. None of the above

116.

117.

118.

gHfAd -
T - |
() Tgafer e
(II)  HIqed HAIHKRT
(I11) SAFamt ue :31eeh e
(IV) TS &1 T TS I hl FFHTH
@y - 11
(a) T R
(b) T Fdea
(c) SATUTAkIA I T
(d) T Fifq Fes o

A. I-a, II-b, Ill-c, IV-d
B. I-b, II-d, Ill-c, IV-a
C. I-c, II-b, II-d, IV-a
D. I-c,II-d, IlI-a, IV-b

YT ST HTET hel TTfiehd fohaT TTT o2
A. 15 3T, 1947 1

B. 26 TawW, 1949 &l

C. 26 SHadl, 1950 =l

D. 39k U | IS el

f3TeToT Tt | wawT o for emer for
HTi-eh STereI © ITH BiaT 82

A. T2 14

B. 3T 15(5)

C. A3 21H

D. S9Uh 8 & 1S Tl
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119.

120.

121.

What is true about the term of office

for Governor?

(I) His tenure is of five years from
appointment.

(I1) His tenure is of five years from
entering the office.

(111) He holds office till the pleasure
of President.

(IV) He retires at the age of 75 years.

A. (1) and (1)
B. (1) and (1V)
C. (1) and (1)
D. () and (1V)

Who holds elections for Panchayats?
A. The State Government

B. The Election Commission of India
C. The District Administration

D. The State Election Commission

Before whom do the judges appointed
to the Supreme Court subscribe the
Oath?

A. The President

B. The Chief Justice of India

C. The Lokayukta

D. The Chief Election Commissioner

119.

120.

121.

TSIYTA o SHIIehTed oh TFaT-e | T Tal =7

(I)  3ThT hriehTe FYfh & ot o o1
T gl

(1) 3T FHRIHT THR TEUT L § Ui
Y T BT &

(I11) 3 Tgafe o JETE Tid 3799 UE 9T
& &

(IV) STht Fafdfer 75 % i SR H &
STt 21

A. (D) 3R (11D)

B. (I) 3R (IV)

C. (II) 3T (1)

D. (1) 3R (IV)

STl o Tl <IHATer shie dTaT 87
A. TSI 9T

B. WRA Hafa TR

C. Na SR

D. TS fatam s

Helieel =TTy H ek =i foheeh
& Y T 82

A. Tsgufd o qHe

B. A % H&T =ARTeiIRT o dHet
C. TAHRIH & aHel

D. e e SR & aHel
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122.

123.

124.

The legislature of India comprises of-
() The House of the People

(1) The Council of States

(1) The President

(IV) The Prime Minister and Cabinet

A. (1) and (IT)

B. (1), (1) and (111)

C. (), (I and (IV)

D. (D), (1), (1) and (1V)

Match the following-
Set-A Set-B
(a) P-Waves (I) Volcanoes
(b) Laccoliths (1) Igneous rock
(c) Basalt (111) Earthquake
(d) Marble (V) Metamorphic rocks

A. a-ll, b-111, c-I, d-1V
B. a-lll, b-I, c-1I, d-1IV
C. a-1V, b-Ill, c-I1, d-
D. a-lll, b-1V, c-1l, d-1

Which one of the following is not a
erosional agent?

A. Running water
B. Glaciers

C. Wind

D. Temperature

122. R hl sgaATiveRT § ST 8-

123.

124.

(1) o ar
(1) T<F
(IT1) Trsgufer
(IV) Tems 37T wsfmuee

A. (D)3 1)

B. (I), (II) 3R (III)

C. (D), (1) AT (IV)

D. (), (ID), (IIT) R (IV)

e -

Set - A Set-B
(a) P-aa@@ (I) SaTcmE!
(b) RIS (1) AT =EH

(c) s (1) ST

(d) ETHTER (IV) HETaRd IgH

A. a-ll, b-1ll, c-1, d-1V
B. a-lll, b-1, c-ll, d-1V
C. a-lV, b-1ll, c-1l, d-I
D. a-lll, b-1V, c-Il, d-I
g

0§ i Ueh 3T9LE ohT 31f37ehd gl

27

A. ST g STA
B. ™IR¥RER

C. g

D. dmushy
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125.

126.

127.

128.

Which of the following parts describes
the lithosphere?

A. Crust and Core

B. Crust and upper most solid mantle
C. Crust and lower part of mantle

D. Asthenosphere and core

In which one of the following layers
of the atmosphere, changes in climate
and weather take place?

A. Thermosphere
B. Mesosphere
C. Stratosphere
D. Troposphere

Which is the biggest multipurpose
project of India?

A. Damodar Valley Project
B. Chambal Project

C. Bhakra Nangal Project
D. Sardar Sarovar Project

Which one of the following is not
associated with Plateau?

A. Black soil

B. Igneous rocks
C. Deccan Trap
D. Khadar

125.

126.

127.

128.

TIAHSA I fF | 9 19 91 9T Ffvig
AT 22

. VUUE qT 3hiS

. YUY T Hed T 3T 31 AT

. TS QT e T e
qelcTaTHS qT Sh1S

qYHEH hl e ol § & ford weh W
ST T e Heleft aited g 82
A. drdEHgA

B. "eIHSdA

U O W >

C. GHdY HEd

D. IgmeA

R o T ST TgIe 1 TRASHT i
S

A. STHIET ETel RETSHT

B. =TTl UiISHI

C. WT&R e TS

D. HER A IS

T ® € S Tk TR ISR ¥ TRI-ed
TE &7

A. et figy

B. 3 =gH

C. TaRA T

D. @iX
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129.

130.

131.

What is the storm that blows in West
Bengal called?

A. Roaring forties
B. Loo

C. Kal Baisakhi
D. Hikaa

Where is the steel city of India
located?

A. Bhilai, Chhattisgarh
B. Jamshedpur, Jharkhand
C. Bokaro, Jharkhand
D. Asansol, West Bengal

Which of the following statement is
incorrect?

A. Maniyari river originates from
Maikal mountain.

B. Hasdeo river is the tributary of
Mand river.

C. Son river is the main tributary of
Ganga.

D. Godavari river system and
Mahanadi system is separated by
Telin valley.

129.

130.

131.

afered} ST & =e aTel T ol T FHEd
27

A. TS STt ST ET

B. d

[N

C. I saTEt
D. &t

A 3T SETA T el 62 27
A. T, sdeg

B. SHIEY, IRTS

C. TR, ANES

D. e, et se

ffefiaa o @ & @1 % TTad 22
A. ATERT 7 T 3T Hehed gaid 2
B. g8cd Tt uig Fdt il Terr 447 2|
C. © 7l T Y T wEr 2

D. Teradl AT 7! YU ahl dfet
1T ST Hdl 2

SPACE FOR ROUGH WORK / &% &Td & fo1 e

20462-YKIWZ-ZKZ-UPR-ELE-E1

39 Set A



132. Match the following-

)
(I

Column — 1
Kabra Pahad
Akuri Nalah

(1) Ashram of Shringi Rishi
(IV) Snake Park

(a)
(b)
(©)
(d)
A

B
C.
D

Column — 11

Natural air conditioned area
Tapkara

Rock Painting

Sihava

I-c, ll-a, 1ll-b, IV-d

. I-c, ll-a, I11-d, IV-b

I-a, 11-b, I11-d, IVV-c

. 1-a, ll-c, llI-b, IV-d

133. According to 2011 census, which is
the district with highest sex ratio and
the district with lowest sex ratio in
Chhattisgarh?

A.
B.
C.
D.

Kondagaon - Durg
Koria - Durg
Kondagaon - Raipur
Dantewada - Raipur

134. Sonbera Plateau is located-

A.

B
C.
D

Raipur high land

. Northern high land

Maikal Range

. Jashpur pat

132. girer -
T - |
) FEIRS
(1) ST e
(II) 57T 36T 1 ST
(V) gd ureh
T — 1
(a) TSI TR T &
(b) qUHT
(c) Ia-fe=x
(d) FgmEr
A. I, II-a, III-b, IV-d
B. I-c, II-a, III-d, IV-b
C. I-a, II-b, I1I-d, IV-c
D. I-a, Il-c, III-b, IV-d
133. SFRTOMTAY 2011 % TR SUETE H
SGIRRIGEISINE CIEIE keI R

A. TS - g1

B. @i - g

C. HIVSHT - TR

D. 3darer - TaQ
134. gHeT u3r fEud -

A, TR 3= A

B. 3T 3= A

C. Hehat goft

D. SR U
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135. Basnajhar is famous for- 135. SEATER Ufdes 2-
A. For Waterfall A. STA99Td & fou
B. For Rock Painting B. vt it ¥ forw
C. For Cave
C. % ferw
D. For Temples o
D. #feti & forw
136. Which festival is celebrated by the 136. STIT ST ST §RT 319 AT IR 71T
Baiga Tribes? STaT 22
A. Cherchera A ST
B. Ratona 5
C. Sarhul B.
D. Mati Tihar C. W&
D. AR fer
137. Match the following ancient religious 137. frfaRaa g ofies TR s 37
monuments with their locations. LT O gafAd Shifs
Column — | Column — Il — —
(a) Siddheshwar () Ratanpur I. =
Temple (a) Frmdfer () WAR
(b) Kewtin Temple  (I1) Sargaon (b) helfe HieT (I woT
(c) Kanthi Deval (111) Palari (c) U3t ufet (1) Yy
Temple d) gEEERT (V) T
(d) Dhumnath Temple (1) Pachdhar @ 7T @)
A. a-l b-1l c-IV, d-11I A. a-1, b-II, c-1V, d-111
B. a-lll, b-1V, c-I, d-II B. a-III, b-IV, c-1, d-1I
C. a-ll, b-I, c-1V, d-lll C. a-ll, b-1, c-1V, d-III
D. a1V, b-ll, c-l, d-1l D. a-IV, b-IIL, c-I, d-1I
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138. Match the place with their
transportation after reorganization of
Parganas Under British Control in

Chhattisgarh.

Column —1 Column —1I
(@ Lorami () Raipur
(b) Gullu (1) Navagarh
(c) Durg (1) Ratanpur
(d) Mungeli (IV) Dhamdha
A. a-ll, b-1V, c-I, d-lll
B. a-l, b-ll, c-lll, d-1V
C. a1V, b-l, c-Il, d-11I
D. a-lll, b-1, c-1V, d-lI

139. What is the beverage made from rice
called in Bastar?

A

B
C.
D

Salfi

. Landa

Tadi

. Pej

140. Chhattisgarhi Jewellery ‘Khinva’ is
worn on which part of the body?

A.

B
C.
D

Finger

. Ears

Neck

. Wrist

138.

139.

140.

farfesT forimor st § S<fTe & ool &

i S 3 warma Freferfiaa Tt
3T T S g R
TR — | TR — 11
(a) et O TR
(b) T (I e
(c) g (1) TR

(d) Hied (IV) &men

A. a-lL b-1V, c-1, d-1II

B. a-L, b-IL, ¢-IIL, d-IV

C. a-1V, b-, ¢-II, d-III

D. a-ll, b-I, ¢-1V, d-1I

SR H =it & ffta U verel st @/ et
ST 27

A. GTh

B. dmer

C. dret

D. U

ST ST “Ratam v o forer i
o UeHT STt 82

A. Tt

B. &M

C. T
D

. FHATS
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141.

142.

Choose the correct option-

Assertion (A) : Height of Himalayas is

increasing.
Reason (R) : Himalayas are young
fold mountains.

A. Both Assertion (A) and Reason
(R) are correct and Reason (R) is
correct explanation of Assertion
(A).

B. Both Assertion (A) and Reason
(R) are correct but Reason (R) is

not correct explanation of
Assertion (A).

C. Assertion (A) is correct but
Reason (R) is incorrect.

D. Assertion (A) is incorrect but
Reason (R) is correct.

Which of the following activity is
undertaken by Central Government
only?

A. To provide Education

B. To operate Railways

C. Agriculture Schemes

D. To provide Employment

141, e foraet 9
FIT (A) : Termer i = gaem 5 &

2l

e (R) : FAITh EHTer 96 aferd gaid

2l

A

142.

FUT (A) T HTH (R) THT T 2 qer
F (R), H (A) T T e
LT 2

FUT (A) I FRF (R) 4T T2 ]
fehe S (R), e (A) T &=l
ST &l T 2

F (A) T & foied 1 (R) TeTa
2

AT (A) T & fohed 1 (R) W
2

Frefifad 5 @ & 91 w1 had 5

T S foraT ST 87

A

B
C
D

NI CEETT
I FAHT

I AT
TSR Y& ST
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143.

144.

145.

Match the Column - | to Column - 11.
Column - |

(a) Kunwar Singh
(b) Tantya Tope (1) Bihar
(c) Laxmibai (1) Kanpur
(d) Veer Narayan Singh (1V) Jhansi
A. a-ll, b-111, c-1V, d-I

B. a-l, b-11, c-lll, d-1IV

C. a-lll, b-1V, c-Il, d-I

D. a-1V, b-1l, c-I, d-1lI

(I) Sonakhan

Students of class 6 to 8 are taught
Social Science because-

A. To pass exam.

B. To develop understanding of
events happening in our
surroundings.

C. Soasto fill maps.
D. To know about our village and
city.

In India during British Colonization
Period which Social Reform was
undertaken?

A. To increase age of voting from 18
to 21

B. Postal system was introduced

C. Indians were given Fundamental
Rights

D. Abolition of Sati system

Column - 11

143.

144.

145.

gl - [ o1 =it - 11§ gHferd hifs)
gl - 1 g - 11
(a) e g 1) I HEEH
(b) qTeAT A (1) foew
ORSLRIELH (1) FER
(d) AR e (V) @t

A. a-IL, b-I11, c-IV, d-I

B. a-I, b-II, c-IIL, d-IV

C. a-IL b-1V, ¢-1I, d-I

D. a-1V, b-I1, c-I, d-I1I

eIl 6 Y 8 T |rHTiSIeh T farsr ot
T LAY fohaT ST & afen feremeff-
A. T T U & Hohl

B. 3T STTEUTH I SIS hl THET Toh|
C. TR YT HiE Hehl

D. 379 TTa/3T o SR H ST e

TR H U3 et o SR i a1
HTHTISTh G g

A. TAEH % SATURT N 18 T 21 I¥ AT
B. STeh AT shl JEITq

C. W™ &1 g IfehR fw My

D. Hat IT kT Ad
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146.

147.

148.

149.

What is the direction of rotation of
Earth?

A. East to West
B. North to South
C. South to North
D. West to East

Which teaching aid is used in class
room, so that students understand the
latitudes and longitudes?

A. Globe
B. Atlas
C. Maps
D. Picture chart

What is the role of media in
Democracy?

A. To make law for Nation
B. To solve disputes in a Nation

C. To report various events
happening in a Nation

D. To execute government schemes

In India, choose the correct sequence
of Mughal Kings-

A. Aurangzeb, Humayun, Babur,
Jahangir

B. Babur, Humayun, Shahjahan,
Jahangir

Babur, Humayun, Akbar, Jahangir
D. Akbar, Humayun, Jahangir, Babur

O

146.

147.

148.

149.

geaft 3 Tuf <t e 2-

A. @ qufzm

B. I H gfeqor

C. afaurdIm

D. ufzmawd

hedT § T sh S7&77eT e 23T

@AY T THIAT o foTe it aerreh

AT HE ST 87

A. A

B. Wdd

C. aHfa=

D. fem=r

reRct 7 firfea & yfirr 2-

A. 1% [T A ST

B. axrH foamal =l gergn

C. I &I & Tt hl Tt STHhRT
T

D. T ASHIHAT hl AN HEAT

WA H I ITHhT o6 TITEA 3h1eT 1 Fal
H B-

A. TS, TAT, ST, SR

B. T, AR, YMESTel, ST

C. ST, AT, e, SRR

D. 3o, GHTY, SR, STaI
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150. Suppose your father has applied for 150. # ST 3T fYaTSit +f 6 HTE & 7

tgp wzlalter connection 6 mon;hs ggo. SH T o foTT STTee foma o o 3w
ut till now no connection has been T
provided. Which of the following Www?jﬁq qﬁgé%
Rights will enable you to know what ii'“”%"i\@“' A SR AR TE
steps have been taken by Municipal ST H &g T foh 31t ek R e
Corporation? ST T hed 33T 22
A. Right to Education A frerr #7 SRR
B. Right to Constitutional Remedy B @it S
C. Right to Equality '
D. Right to Information C. HHIT FI AT

D. ¥ I SARIRR
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39 | SETA

IR 3iTha o T W 2:30 ¢ arfereham ik : 150
Time for making answers : 2:30 Hours  Maximum Marks : 150
e :

1. 39 T Uident § IR 9ET B |

2. TS U 01 3k T § | {1 97 T AT AT € |

3. Tl o I &1 T OMR STE-SfE (eTawsiie) W sifea fhifvm |

4. SRUTICHeR HodTeh g1 fehalT ST |

5. Tordlt oft T8 o FeTgheied a1 @I oo U HITSel Wi &l S I & |
6. OMR IT-IME (SATATINE) ST I=INT Shid THIT VET g STATTLTHT T

w98 e I 91 39 |ig At faerae el ug S e
TFAIEYT I T 8l T |

TUTferg 7T / fawat <ht foreqa et |
amr | e T hT AEAT | 3H
TUH WRT | STeT (oTehTH TS 9T&IT 9T 30 30
G e | &=h 30 30
TAT WRT | ST 30 30
TqA AW | (3T) T 3R fo 60 60
() AT Teqa=

(37) Tt (@) § O forelt v g T s AT R

Note :

1. This question booklet contains four Section.

2. Each question contains 01 marks. All question are compulsory.
3. Indicate your answers on the OMR Answer-Sheet provided.

4. No negative marking will be done.

5. Use of any type of calculator or log table and mobile phone

©

is prohibited.
While using OMR Answer-Sheet care should be taken so that

the Answer-Sheet does not get torn or spoiled due to folds or wrinkles.

Details of Parts/Subjects :

Part | Particular No. of Questions | Marks
First Child Development and Pedagogy 30 30
Second | Hindi 30 30
Third English 30 30
Fourth | (A) Mathematic and Science 60 60

(B) Social Science

Choose any one Subject from (A) & (B).
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